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Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
O PR T e
(a) When does Heckscher-Ohlin theory hold
good?
- o ©gl Ffom IR W 2

(b) Mention any one protective device.
s i e «fb (S SeEs 9

(c) What happens if the cost difference is
the same in two countries?

W P TR AR 9e 2 =0
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(2)

(d) Write True or False :
RCRCRE R RIE
The theory of comparative cost
advantage is based on complete
specialization.
worgere e Ra el e Redieaas
@o[Fo 2P |

{e) What is import quota?

ST wAfRe FdEe 62

() What does forward shifting of an offer
curve mean?

GO o 9@ ST ST (EoE
@ ?
(99 Name one non-tariff barrier.

GO - 2w W o7 |

2. Answer the following questions : 2x4=8
O] PPTRE Teq o

() Mention any two gains from
international trade.

sEsfoe qfdER & @ 71 e TEd T4 |

(b) Distinguish between commodity terms
of trade and gross barter terms of trade.

TR q1fen 56 i g5 R e 567 e
of12f5y o1 |

(c) Mention two advantages of free trade.

I% e 101 FfRar SeEy 41|
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(3)

(d) What was the empirical result of
Leontief’s study?

et SR Sxfefed T (¢ SfRe ?

3. Answer any three of the following questions :
5x3=15

o eppTRd A (P fofbE e fore

(a) Discuss the effects of protection policy.
e NOT ASTPIR SCAT5] F |

(b) Examine the effects of export subsidy on
an economy.
G TR QR TR AR AR
41|

(c) “The effects of tariff and quota are
equivalent.” Explain.
‘g wre AR FEEeR deReR e 17
BUEHESEIN

(d) The domestic cost ratios of two goods
X and Y between two countries A and B
are 5X :10Y and 5X :15Y respectively.
According to the theory of comparative
cost, in which good A and in which good
B will specialize?
75| oeY A S B R4 TR X SF Y J
e SAe TH &S 5X:10Y S
5X:15Y. SERNEE W ©g SPIN P
e A G WE @HRY FEES B e
fRe@iead 2

(e) Explain the concept of single-factor
intensity reversal.
4T -TmA ARed ReRieqRieR «=erfo
<41

8A /220 ( Turn Over )




(4)

4. Answer the following questions :

o RPTYRT T fore
(a) Discuss various effects of tariff. 10
%< RS AR SeEs 4 |

Or / 941

Define optimum tariff. Explain the
concept of optimum tariff without
retaliation and with retaliation. 2+4+4=10

T =] e gy | R Aoy SR afery
2T T WFF RN 01 41 |

(b) “Foreign trade is called as an engine of
growth.” Why? 10

“te <fdae wtafes Rere e @En
zq 1" 5992
Or / =241

Explain how factor abundancy is proved
in Heckscher-Ohlin theory.

EIR-9'H wEte TAmER Rgel Gl
A1 FT CZ0R, I F41
{c) Discuss the factors affecting terms of

trade of a country. 10
93 (PR AR 56 deEEe 9 IR
HTCeATeAT <41 |

Or / ST
What is reciprocal demand? What does
offer curve indicate? Derive equilibrium
terms of trade with the help of offer
curves. 2+2+6=10
ol oiEw 2 ome 9@ & ot 9|2
oMM FE9 REe ST AT 59 fame
<91 1
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